KEY

Section 1: Algebra

1.1 a,c

1.2(187)(354)

1.3 (12)(34), (13)(24) and (14)(23)

1.4 ab.c

1.5 a,b

1.6 Any two linearly independent matrices
with trace zero and the entries of the first
row adding up to zero

1.7 (n —1)?
1.8
5 0 0 0
0230
03 20
0005
1.9 £/3
1.10 0, —3:
Section 2: Analysis
2.12
2.2 a,b
2.3 kr,keZ
af’(a)
24 e i@
2.5 b,c
2.6 a,b,c
2.7 &
2.8 h=2r
2.9
o 2n
x
-1 n—1
;( ) 2n

Section 3: Geometry

3.1 (1,2)
3.2 7
3.3 (1,1)
3.4a=
3.5 b,c
3.6 |det(A)|a

3.7 2

3812+’ +22—ar—by—cz=0
39a(x—a)+bly—>b)+c(z—c)=0
3.10 2v/2

b:

1 ViZ—d?
27 2

Note: 1. Please accept any answer which
is correct, but expressed in an equivalent,
though different, form, where applicable.

2. In Question 1.3, if (1 2)(3 4) is omitted, it
may be excused.



